MARATZON

Enduring Quality, Exceptional Value

www.marathonbroadband.com

Product Reference Sheet

Pipe to Pipe Clamp
MAR-BC3514X

0

-

&

\ Existing

@ 2.375" to @ 5" OD Pipe
Existing N4

@ 2.375" to @ 5" OD Pipe

N
Product Description
Iitem Part Number Description Qty. Weight (Lbs.)
1 DCP10 Small Clamp Half 8 2.21
2 MT-382-14 5/8" x 14" Threaded Rod 4 1.12
3 HB5816 Hardware Kit (Items 4-6) 1 -
4 GNO5A 5/8" Galvanized Hex Nut (A325) 16 0.08
5 GWL-05 5/8" Galvanized Lock Washer 16 0.03
6 GWFO05A 5/8" Galvanized Flat Washer (A325) 16 0.03

230465D015
D240304-VF



